H £ 0l & AF & S

Al A

0238 204t LBEEIH SYII=dIH
A SI|I=HEH
B ==xE
gelr A E=2d EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sYJI=HH 16,471,469 12,263,754 4,207,715
= 1,976,614
[ 470,000
= 642,275
Al 12,112,580
CH 1,270,000
sELE 6,887,298 4,892,270 1,995,028
= 1,151,200
s 220,000
== 367,275
Al 5,148,823
UNE=DIEEeage: 689,535 1,189,436 499,901
= 25,850
< 25,000
Al 638,685
At 573,535 717,764 A144,229
101 21AH| 50,561 226,280 A175,719
04 JIZtN2Z2XNSE+ 50,561 226,280 A175,719
OFA2S(AIZ222)JI12EH I24t] 24,629
s 76,9603 x1H 228 17,547
- erEsdsd 76,9603 x 1 »50 4,541
AUEE = 22,088,000& *11.5% 2,541
OFAF HI=2Y 1A
148,500& x 10 +42] 5,940
OFHAIE JI2tHl 21| 19,992
JlZ2s 76,9602 x 186« 1H 14,315
CrEsdsd 76,9602 x482L 18 3,695
A4 28 18,010,000 *11% 1,982
201 =3 249,224 237,584 11,640
01 At22t2lt] 145,840 145,840 0
OsENTYSR Let+=ZH| 100,000
Ostlags 29 10,000
o=l 12,000
OFAF R213Hl MHIAR
400,000& 1220 2 4,800
SO HSHAIE A 2013H| MHIAZ
150,000 *3JH A+ 12JH 2 5,400
OblFe| ASESRYL HAS F1BH| A
BlAZ 200,000&* 12043 2,400
23 N2 M2SRUEAE S13Hl A
HIAZ 120,000 * 1204 & 1,440
Olld=uiera R18Hl MblA=
200,000 *120HE 2,400




2A: sHIIsUEH
B ==xE
gelr A E=2d (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
SIERIENERIEREL]
200,000+ 1290 & 2,400
OFAL I t8Ed 2,500,000 <22 5,000
02 S3=gHl 103,384 91,744 11,640
OFA & stasa AERXH 40,000
O ZH| 1,910&+18,000 £ 34,380
OXte= A2/l 3,300, 0002 *5CH 16,500
(OFSPRFS LN o 667,000 1204 2 8,004
Ooagdd 2eld| 750,000 22 1,500
OsaESIBuFUH &E - A AHIA 0
=1 250,000& * 122 3,000
203 HR=H| 12,000 12,000
03 A=A PR 12,000 12,000
Osles AMZFT(2E)
8,000,000& *1H 8,000
OszXd € Jls2s ARz
2,000,000 2t 4,000
206 M=Hl 8,000 8,000
01 MHZH| 8,000 8,000
sz IRFH(5F)
200,000 405 8,000
401 AlZHIZ S 0HbI 225,000 200,000 25,000
01 Al&H| 225,000 200,000 25,000
O3B usE )| EXISA
25,000,000 *1IH £ 25,000
Os2laga HE+ 100,000
OFAL 2 =4 2 100,000
405 AHaHE = 28,750 33,900 25,150
01 ML ESFSHI 28,750 33,900 A5,150
OsgusHEuwAH TV 700,000 2CH 1,400
Oxelell uH 1,200,000+ 1CH 1,200
Ostidgs 2S5 Xl 5,180
oSS 1,450,000 #1942 1,450
LT (U RIE)
80,0002 x10IH*10H A 800
IHEI 300,000 51+ 100 2 1,500
NEE(2e) 200,000 %20+ 10 2 400
- HZ0(500L) 1,000,000 194 A 1,000
OMAE e wHl 350,000 *60CH 21,000
sENZAHE dt2el 14,300 14,300 0
201 eer23| 9,000 9,000
01 AtR2t2lHI 9,000 9,000
OsEXNTAIY dutie| 24 9,000
206 M=l 2,000 2,000 0




2A: sHIIsUEH
B ==xE
gelr A E=2d (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IEEL 2,000 2,000 0
OSEXTAY S22l HETe
100,000& 205 2,000
301 EtE2 NS 3,300 3,300
11 #AIAHIXIZ = 2,400 2,400
OSEXTAY Suze HIHK
8,000 *300& 2,400
14 JIEt2 = 900 900 0
OSEXTAIY SR SEAA L At
E £ 300,000 *3& 900
sl=de N=s2d dEssegdy N 45,200 68,300 £23,100
= 22,600
Al 22,600
201 et=2 3| 5,200 14,900 A9,700
= 2,600
Al 2,600
01 Al 22| 5,200 14,900 29,700
OXNEZDY Ay IR(HRB2UE
) 1,600,000 x2H 3,200
= 1,600
Al 1,600
ONETLY AL DS(FTAS 42)
500,000 +4& 2,000
= 1,000
Al 1,000
202 04| 40,000 53,400 13,400
= 20,000
Al 20,000
01 =LHO LI 36,400 43,200 26,800
ONEZRLY AN DR(EIFBAUEY
) 1,600,000 x2H 3,200
= 1,600
Al 1,600
ONETTL AL DI(HFAS 4%)
300,000 x4H 1,200
= 600
Al 600
ONEBLE ANL DI(H2e+ 2H4E)
4,000,000 *1H 4,000
= 2,000
Al 2,000
ONERLH AN DR(SLSHHZ,10
HE) 18,000,000 1 18,000
= 9,000
Al 9,000




2A: sHIIsUEH
N =EAE
& N8z (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONE=ed HesHNLEENA (B2X
CH73) 500,0008 x20H 10,000
= 5,000
Al 5,000
04 =Xl=todb] 3,600 10,200 26,600
ONETTL 22Y AYNL(2HRR)
3,600,000& x1H 3,600
= 1,800
Al 1,800
SEREAY HE )IZNE 2E N (MSHESAIS 1,300 1,400 A100
)
= 650
Al 650
201 er=23y| 1,300 1,400 A100
= 650
Al 650
01 AtR2t2|H] 1,300 1,400 A100
Osgitstedsaols 29 1,300
= 650
Al 650
SEXEMNE BHE JIEXE SSXA(XE) 5,200 6,000 2800
= 2,600
Al 2,600
202 04l 5,200 6,000 A800
= 2,600
Al 2,600
01 2L AL 5,200 6,000 A800
OsENEAE 253t 12 5,200
= 2,600
Al 2,600
NS A2 B2 (XE) (M EALY) 50,000 50,000 0
& 25,000
Al 25,000
402 QI>F X201 & 50,000 50,000 0
= 25,000
Al 25,000
02 QI X2 AL E R (0IHTHR) 50,000 50,000 0
ONYSMse wa ASE AR
50,000,000 *1IH £ 50,000
=S 25,000
Al 25,000
SIS 823,180 957,610 134,430
= 119,750
=S 100,425
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M sgII=4dH
B =E=xE
ol sgelus EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
sg3Us2Z 90,920 82,600 8,320
201 LB-2AH| 27,000 27,000 0
01 AtR2telt] 27,000 27,000 0
O=diis 228 ¥ UHNE
45,0002 100245 18,000
O=sdiiez2gd =8 7
22, 5002110024 *43] 9,000
206 T2 bl 7,200 7,200
01 el 7,200 7,200
Os20s 4aH2 7Y
18,0002 * 100X 43| 7,200
301 LPBNSZ 56,720 48,400 8,320
11 HAIAHIXI A2 10,320 10,000 320
Oseis #YDE BIH2AN 2
43,0003 +60E 43| 10,320
14 J|Et2 42 46,400 38,400 8,000
S2UE A2 Arrg
400,000 x26 3| *4 &l 41,600
ONBEH T A3
200,000 63| x4 &l 4,800
2as 54 N& 22,500 28,000 A5,500
= 11,250
Al 11,250
201 B2 AY| 3,700 4,000 A300
= 1,850
Al 1,850
01 AtR2elt] 3,700 4,000 A300
OZdars S8 IS & 28 S 3,700
= 1,850
Al 1,850
301 LPENZ 18,800 24,000 A5,200
= 9,400
Al 9,400
11 HAIAHIXI A2 1,600 1,600 0
OZi=s 54 W 2
8,000 x20H* 103 1,600
= 800
Al 800
14 J|EI2 43 17,200 22,400 A5,200
OLLs B4 Us LAY
400,000 *433| 17,200
= 8,600
Al 8,600
ZAhs Atgztel & A8 X3 7,300 10,000 A2,700
= 3,650
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B =E=xE
ol sgelus EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,650
201 er23y| 7,300 10,000 2,700
= 3,650
Al 3,650
03 A2 I 7,300 10,000 A2,700
OZasAtd L EIMXIE A 7,300
= 3,650
Al 3,650
sSOIUEH(AIZHH) 28 X2 30,000 30,000 0
= 15,000
Al 15,000
201 er2 3| 15,000 15,000 0
= 7,500
Al 7,500
01 AtR2t2|HI 7,000 7,000 0
OZssgls =22 1,750,000 48t 7,000
= 3,500
Al 3,500
03 A=l 8,000 8,000 0
OYEsUE (e H=Us, E5Y S)8A
2,000,000 *43] 8,000
= 4,000
Al 4,000
202 048l 1,500 1,500 0
= 750
Al 750
01 =LHOHI 1,500 1,500 0
OgssgUst U= ol
50,000& *302 1,500
= 750
Al 750
206 MH=Hl 7,500 7,500 0
= 3,750
Al 3,750
01 M=4l 7,500 7,500 0
OsAst AETH2 7Y
25,0002 x100& *33] 7,500
= 3,750
Al 3,750
301 LEIE NS 6,000 3,800 2,200
= 3,000
Al 3,000
11 dAMEBIXIE S 6,000 3,800 2,200
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2A: sHIIsUEH
B =E=xE
ol sgelus EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 200
Al 200
HHsgol ZYHNL] AL 90,000 0 90,000
= 45,000
Al 45,000
307 gl2to| & 90,000 0 90,000
= 45,000
Al 45,000
02 QB HANEER 90,000 0 90,000
OHUse0l B MDA
50,000,000 *2JH 2=*90f% 90,000
= 45,000
Al 45,000
SR MNSEHAXE 105,200 105,820 2620
= 25,425
Al 79,775
201 eer23y| 60,600 58,920 1,680
= 12,225
Al 48,375
01 At 2|l 58,500 58,920 A420
O4HEEXNSS 30,000 *650% 19,500
== 3,900
Al 15,600
O=EXNTH BBX2S
60,0002 x650F 39,000
= 7,800
Al 31,200
03 A= 2,100 0 2,100
Ostu4HNE S A
1,050,0002 104 12+23] 2,100
< 525
Al 1,575
301 EtE NS 8,200 8,200 0
= 2,850
Al 5,350
08 212+91=2|044| 6,400 6,400 0
OSEXSAY D420l AZINY X
=2H=) 2,000, 0002 80%*4 & 6,400
=S 2,400
Al 4,000
11 AALAEIXIE S 1,800 1,800 0
Ogs4He 83t usX2
20,0002 +90 1,800
= 450




M sgII=4dH
N sEAE
S e (19 @)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 1,350
307 gI2tol ™ 36,400 36,900 A500
= 10,350
Al 26,050
02 QIRHEAAIHEE X 36,400 36,900 AB00
O=golesti JIFHUE 8Eus
105,000 100X 10,500
& 3,150
Al 7,350
OsAOISHSHM (MEINA, 4H) &5 X
5,000,000 »x23| 10,000
& 3,000
Al 7,000
sEXNEA 285K
5,400,000 x 14! 5,400
& 1,350
Al 4,050
OsEXNTXHe &0 ¥ 2K
6,000,000 * 14! 6,000
& 1,500
Al 4,500
ON= 4HEZX L F0igs K2
4,500,000 x 14! 4,500
& 1,350
Al 3,150
NG EHS RSB S (NF) (HEAIY) 150,000 300,000 A150,000
= 75,000
Al 75,000
201 L2 | 15,000 15,000 0
= 7,500
Al 7,500
03 At2GH] 15,000 15,000 0
OSSMAL =& ZHMA HOAIY ws X
& 1,500,000& * 103 15,000
& 7,500
Al 7,500
301 LPENZ 5,000 5,000 0
= 2,500
Al 2,500
11 SHAIAHIXI A2 5,000 5,000 0
OSSMUAT T2 ZHE HOAIY 2
& 500,000& 103 5,000
= 2,500
Al 2,500
402 QI2ERH=0IN 130,000 230,000 100,000




A SI|I=HEH
g sEAS
S e (19 @)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
< 65,000
Al 65,000
02 QI TH2AIE EE(0IMTHE) 130,000 230,000 100,000
O==sHEEN =223 At
30,000,000 x14! 30,000
= 15,000
Al 15,000
Otz 82 Al g0 |4
50,000,000& x24! 100,000
< 50,000
Al 50,000
MED| =2 2,713,445 798,362 1,915,083
= 586,500
s 220,000
= 212,350
Al 1,694,595
Hdsgesd 16,600 13,060 3,540
206 =4I 8,000 8,000 0
01 XH=4l 8,000 8,000 0
OOl =9l S2iY DS
250,000& *20=] 5,000
O04d=sgol clus AsizE
25,0002 «30H 43| 3,000
301 Et2EZ 8,600 5,060 3,540
11 AL HIXIE 3 5,000 1,460 3,540
OSHSE ojasgel IS AT 2y
500,000& *10IH 2+ 12 5,000
14 J|EtE2a=S 3,600 3,600 0
OWE=0l S3Y Ws ZA+E
300,000&*52 1,500
O04sei2IL DS LAT
300,000 #32 900
Os&El=d? 228 us Z2AsE
300,000 *2 74 2+23] 1,200
ME st E A 20,636 18,194 2,442
101 @124H| 9,236 8,74 442
04 JRHHZ2Z2REE S 9,236 8,794 442
Odig stz 2 el
76,9603 1202 +1H 9,236
201 L2 3,000 3,000
01 AtR2telbl 3,000 3,000
Odgustat 2H ARE FY 3,000
206 =4I 3,600 2,400 1,200
01 XH=4l 3,600 2,400 1,200
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2A: sHIIsUEH
B =ExE
Rl dE)|s2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONsisaz 28 1= M
300,000 %122 3,600
301 YrEEI 4,800 4,000 800
14 JIEH2 A2 4,800 4,000 800
ONYsME BE DS ALY
400,000 * 122} 4,800
StEIIS WS 602,809 46,108 556,701
101 e124d| 18,009 17,148 861
M ORINZZ2NSE S 18,009 17,148 861
OsdtEIISuFsdE 24 J2HH 2] 18,009
JlZ2s 76,9603 x 12 +184 14,161
raEsdsY 76,9602 x1& x50 3,848
201 fer=3| 136,600 15,360 121,240
01 AtR2t2|H] 122,000 2,000 120,000
Ost=IIsUsHE 28 MRES 7Y 2,000
Ostts d2aAM =8 20,000
O43J18 & AIME M& 50,000
Oozeroetel B#EX 50,000
02 S3=gHl 14,600 13,360 1,240
Os¢EIisusHE 280t
1,000,000& *35 3,000
OsaStBusHEH RFFL(ER)
1,500 *2,000 £ 3,000
Ot uSHE AIZ3HIRA
430,000,000 *2% 8,600
206 M=H| 16,000 3,000 13,000
01 M=8l 16,000 3,000 13,000
oYL Msu=s Ha7e
200,000 +80&H 16,000
207 ARl 14,000 4,200 9,800
03 Al 328 14,000 4,200 9,800
Osdt=E)ISuFsdH AIEHAE e+
1,400,000& 104 14,000
301 EtE2 NS 18,200 2,400 15,800
11 #AIAHIXIZ S 1,200 0 1,200
oI SJFUT FIIEY
40,0002 30 1,200
14 JIEt2 = 17,000 2,400 14,600
O WE 2A=HOIxE)
350, 000& *402] 14,000
OUIHI Z& Xt 2= =AM
150,000& *202 3,000
401 AlZHIZ SO 400,000 400,000
01 AlZ28| 400,000 400,000
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2A: sHIIsUEH
B =ExE
Eelr dE)|=R2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot usdE A8 S0ist
400,000,000 *1IH 2 400,000
sSHADI=AE(MED|=) 900,000 70,000 830,000
= 450,000
Al 450,000
402 2I2F X201 & 900,000 70,000 830,000
2 450,000
Al 450,000
02 2IIHZ AN 2 X (01 TR 900,000 70,000 830,000
OBIIZ Xt MRS M- A4 22
900,000,000 *17H 2~ 900,000
= 450,000
Al 450,000
sEIII) =X 210,000 0 210,000
= 105,000
Al 105,000
402 2I2F X201 & 210,000 0 210,000
= 105,000
Al 105,000
02 QI EASEZ(0IETHR) 210,000 0 210,000
OsZSs A 453 2L 25
210,000,000 *10H 2~ 210,000
= 105,000
Al 105,000
ST HAH (M) 13,000 3,000 10,000
= 6,500
Al 6,500
201 get=3y| 13,000 3,000 10,000
= 6,500
Al 6,500
03 A2 I 13,000 3,000 10,000
OHEXNEHsENLEIH)LEUT
7,000,000 14 7,000
= 3,500
Al 3,500
ORI JISAS 88 d2uF
6,000,000 14] 6,000
= 3,000
Al 3,000
SHSTHHoE Al 50,000 50,000 0
= 25,000
Al 25,000
402 QI2F X201 & 50,000 50,000 0
= 25,000




M sgII=4dH
N sEAE
Eelr dE)|=R2Y (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 25,000
02 QIZEXH2 AL 22 (01 & &) 50,000 50,000 0
OxSY wEY oEpe AF X
50,000,000 *1JH 2~ 50,000
= 25,000
Al 25,000
sABIESMEI I=ES 440,000 0 440,000
= 220,000
Al 220,000
201 L2 | 30,000 0 30,000
= 15,000
Al 15,000
01 At 2telt] 30,000 0 30,000
Os&2 Jt8J1Es EESHHACR 1S AIAE!)
10,000,000 14 10,000
s 5,000
Al 5,000
Osdt2 JI3J18 EZsHs42E I8 A3
sh) 10,000,000 14! 10,000
= 5,000
Al 5,000
Os&2 II8J|l2 EEHAIISE ZM S
Xt =) 500,000& *203] 10,000
s 5,000
Al 5,000
206 =8l 10,000 0 10,000
s 5,000
Al 5,000
01 =l 10,000 0 10,000
OsdE JI3J1s EZ3HANE ek & A
=3 500,000& *203] 10,000
= 5,000
Al 5,000
401 A& HILS0HY| 400,000 0 400,000
s 200,000
Al 200,000
01 Al&HI 400,000 0 400,000
OsdETeaslI=iA
400,000,000 *1JH & 400,000
= 200,000
Al 200,000
SEMEEAG} 79,000 109,000 230,000
T 21,650
Al 57,350




2A: sHIIsUEH
B =ExE
Eelr dE)|=R2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 42,000 67,000 /25,000
= 8,400
Al 33,600
01 At2teltl 42,000 67,000 25,000
Oldgd=sgel 32X 32
60,0002 +700H 42,000
=S 8,400
Al 33,600
307 212+01& 5,000 5,000 0
< 1,250
Al 3,750
02 LB AL E 5,000 5,000 0
Os&0d stetd 235 A&
5,000,000 * 104 2~ 5,000
= 1,250
Al 3,750
402 2I2F X201 & 32,000 32,000 0
== 12,000
Al 20,000
02 QI EASEZ(0IETHR) 32,000 32,000 0
OsENE 2871 ABAY
40,000,000 * 1IH 2 +80% 32,000
= 12,000
Al 20,000
NHSAS RSB AL (MED =) (HEAIL) 281,400 259,000 22,400
= 140,700
Al 140,700
201 get=3y| 95,000 74,000 21,000
s 47,500
Al 47,500
01 At2t2l] 15,000 24,000 29,000
Os& =22 243 2= HLAH 15,000
< 7,500
Al 7,500
03 A2 Y] 80,000 50,000 30,000
O=s&g Mol & HNEAuS 29
30,000,000 x 14 30,000
= 15,000
Al 15,000
OARRZ JISEgd #EXH
20,000,000 * 14! 20,000
< 10,000
Al 10,000
Os& IR2d 243 = H2AL 15,000




M sgII=4dH
N sEAE
Eelr dE)|=R2Y (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 7,500
Al 7,500
Oxmsg S22 HH IsZ20" &
o3t 15,000
& 7,500
Al 7,500
301 LB NZ 11,000 7,600 3,400
= 5,500
Al 5,500
11 HALAHIXIEZ 5,000 0 5,000
OXls=sd S| ¢ IsZ20H &
A3t 5,000
& 2,500
Al 2,500
14 JIEI2 43 6,000 7,600 21,600
OXs=sy 8208 S4AXd
1,200,000&*5H 6,000
= 3,000
Al 3,000
307 212+01 A 15,400 30,400 A 15,000
& 7,700
Al 7,700
02 QIZHAAAIEE R 15,400 30,400 215,000
O=Z018 OHEsts B3 Nd
15,400,000 171 2 15,400
& 7,700
Al 7,700
402 QIZ2H X201 H 160,000 135,000 25,000
= 80,000
Al 80,000
02 QIR AL B (01 & THE) 160,000 135,000 25,000
Ox=AEE 288t sEMF2E 8435t
Al 100,000,000 *1JH &~ 100,000
& 50,000
Al 50,000
OsENE 288 XssE SHAY
60,000,000 *1JH 2~ 60,000
= 30,000
Al 30,000
SO S AL EAIE FUIINS (M EAIS) 100,000 100,000 0
& 50,000
Al 50,000
402 QI2E X201 ™ 100,000 100,000 0
& 50,000




2A: sHIIsUEH
B =ExE
Rl dE)|s2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 50,000
02 QI XHE AL E R (01X THE) 100,000 100,000 0
O=sgel JISAIEE AI23Hl e
50,000,000 *2IH 2 100,000
== 50,000
Al 50,000
s)AH2E 2,661,138 1,946,862 714,276
= 419,100
== 29,500
Al 2,212,538
SIAHS UM 1,656,352 1,167,661 488,691
101 e124d| 372,167 218,837 153,330
M ORNZZ2NSE S 372,167 218,837 163,330
OsIIHSUHAIL2E JI2HH(01s) el 223,884
Jlzs 115,420 2«62 x 1862 128,809
CraEsdsd 115,420 63 48 33,241
S22 173, 1303 62 36 37,397
AWEE= 199,447,000 *11.5% 22,937
- L= 250,000 6 1,500
OSIIHSUAIL2SE II2HMI(LEH I 148,283
E2s 76,9602 6 x 1862 85,888
raERdrd 76,9602 x6 & 48 22,165
] 115,440 x6 2 36 24,936
AHEE = 132,989,000& *11.5% 16,294
201 fer23| 268,185 200,324 67,861
01 AtR2t2|HI 30,400 29,200 1,200
OSIIAHALUAE ArR2teld]
6,000,000 x4 0K 2= 24,000
OsJ1HSH S3MA L=l
200,000 x5 +23] 2,000
OS24 U=l 200,000 * 11 *23] 4,400
02 S3=4gl 237,785 171,124 66,661
O2U=INH 2= 60,000
O A A HE 2=
1,650 *125L+40H 2 825
O A A MDA Z
2,000,000& 1290 & 24,000
OYUAL A 2SFHI(XAR, 28X) 2
82 ¥ |AZdbl 40,000
OgUsgINH 28 KEFL(ER)
1,910 %1,0002| E4 #4002 7,640
OdUisIIH sR7L(3ER)
1,810 #5002 & 404 2 3,620
OSUsSIIH HaHH &=cl
1,000, 0002 *50CH <22 100,000
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2A: sHIIsUEH
B =ExE
tel: sJIIAH2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OYUsI He S+ALL ]
100,000& %17 1,700
206 M=l 216,000 167,500 48,500
01 M=4l 216,000 167,500 48,500
OglsIA =28 F37Y
540,000 *400CH 216,000
401 AIEHIZ R 0HYI 100,000 70,000 30,000
01 Al&HI 100,000 70,000 30,000
Ol AUAIE A B X OtAZ ZE SA 100,000
405 AHaHE S 700,000 511,000 189,000
01 ML ESF SHI 700,000 511,000 189,000
ousds 3ot & D& sIIAH UH 2 500,000
Ogx=z J= sIIH 72 200,000
SIIAHAMEI A3t 42,216 32,001 10,215
101 ©1AH| 36,216 26,001 10,215
M ORNZZ2NSE S 36,216 26,001 10,215
OsgIH =342l 212y 36,216
JlEa 12,0002 x 1862 1 20,832
reEsdsd 12,0002 ~482 1 5,376
g == 168,000+36& + 1 6,048
A= 32,256,000 *11.5% 3,710
=l 250,000 *1 250
206 M=l 6,000 6,000
01 MHZH| 6,000 6,000
Oz2l=cdlE sIIH 357
10,0003 x300& 3,000
Ozg=clE sIIH 3778
600,0002+55 3,000
SIHEE ML 36,050 18,000 18,050
201 =3 600 0 600
01 At2t2lt] 600 0 600
OEE gl ozt us Wi M
50,000& *12H 600
206 M=l 9,000 9,000
01 MZH| 9,000 9,000
OLE Ml ot us 25 9,000
301 EetE NS 26,450 18,000 8,450
14 0Bt 2as 26,450 18,000 8,450
OSIAHDF (A8 ALINHGHS 1S
g) 24 200,000&*111& 22,200
OEE 2Nl &3t us A
400,000& 52 2,000
OEE YNl a3t n| BEX2AE
150,000 52| x38 2,250
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2A: sHIIsUEH
N sEAE
&l SIAH2SLE (CH9: &S1)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
s s X 10,200 8,400 1,800
= 5,100
Al 5,100
201 er2 3| 10,200 8,400 1,800
= 5,100
Al 5,100
03 A= I 10,200 8,400 1,800
OsgIIH ¢8L= 10,200,000 * 14! 10,200
= 5,100
Al 5,100
WEE I X2 28,000 40,000 /12,000
= 14,000
Al 14,000
405 KHAHF SH 28,000 40,000 212,000
= 14,000
Al 14,000
01 ML ESF SHI 28,000 40,000 12,000
OsgE=22|(1E01&
28,000,000 = 1CH 28,000
= 14,000
Al 14,000
FAER 2201 H 3 600,000 400,000 200,000
= 300,000
Al 300,000
405 KHAHF SH 600,000 400,000 200,000
= 300,000
Al 300,000
01 ML ESFSHI 600,000 400,000 200,000
OZF &R L2 HISHA
200,000,000 *3JH 2 600,000
= 300,000
Al 300,000
EE2SIIAWH 200,000 200,000 0
= 100,000
Al 100,000
405 KHAHF SH 200,000 200,000 0
= 100,000
Al 100,000
01 ML ESFSHI 200,000 200,000 0
O=sJHUH 2
200,000,000 * 14 200,000
= 100,000
Al 100,000




2A: sHIIsUEH
B =ExE
tel: sJIIAH2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SIHS A S A == U CHHIXIA 73,320 73,300 20
= 22,000
Al 51,320
405 AtatE = 73,320 73,300 20
= 22,000
Al 51,320
01 ML ESFSHI 73,320 73,300 20
O=IIH S EH HH 7L
73,320,000 * 14! 73,320
== 22,000
Al 51,320
NA SRS E (S H) (HEAIY) 15,000 7,500 7,500
= 7,500
Al 7,500
201 Ler23 | 15,000 7,500 7,500
= 7,500
Al 7,500
01 AtR2t2|HI 15,000 7,500 7,500
Osgs &8 85 HAsE S
1,500,0002 10 15,000
== 7,500
Al 7,500
[SESPAL 9,373,501 7,160,594 2,212,907
= 825,414
s 250,000
s 275,000
Al 6,753,087
CH 1,270,000
=24 3,228,725 1,207,653 2,021,072
= 408,340
& 250,000
Al 2,570,385
2oeDl=2= 112,600 57,000 55,600
201 er23 | 7,500 0 7,500
01 At2teltl 7,500 0 7,500
Ozl lsdtEs Yot sl s WM
15,0003 x250 22 = 7,500
207 ARl 6,500 2,000 4,500
03 AlZ & =2H| 6,500 2,000 4,500
Oz NSE Uit 4507 MY
,000&+35 1,500
OJ0XE HioldA - E JEDIE Y
250,000 x105+2M & 5,000
301 EtE N = 8,600 5,000 3,600
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SN SYIISHE
I SN
el JoER=E29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 HALEEIXIZE S 5,600 5,000 600
ORCIZES MHsLel DS FHX X
700,000 82 5,600
14 0Bt 2a=S 3,000 0 3,000
OHERME 27 S0l I LA+
300,000& *102] 3,000
402 2I2E X201 & 90,000 50,000 40,000
01 QI XH2AILE X (KHMITHE) 90,000 50,000 40,000
O8I 25 o3 JI=AE
20,000,000 * 1k X %50% 10,000
O8] 22+ S=HAH #EAIE
8002 %200, 0002=*50f% 80,000
HAoiDl=s FHHALS 53,485 26,893 26,592
101 21AH| 11,585 9,893 1,692
04 JIZtN2 2N S 2+ 11,585 9,893 1,692
OJISHBS DU ABT T4 oY)
76,9603 x 18 *36& 2,694
OsttEs A TAF 12|
76,9603 * 12 +1002 7,696
OJIZHHMZ2Z X AHEE =
10,384,000 +11.5% 1,195
201 et 3| 6,900 7,000 A100
01 At2t2l] 2,000 2,000 0
O I=Z2Hy LSE st MRES +
o 200,00021% 105 2,000
° BZ2ZH| 4,900 5,000 A100
OlIETE INES - EHEES
1,7002+2,0002| & 3,400
OAlIE=Y 2HAH EHI=X|
125,000 * 1204 & 1,500
206 T2 5,000 10,000 5,000
01 =l 5,000 10,000 5,000
ODIE AET 2% 27
250,000& x205 5,000
405 AtatE = 30,000 30,000
01 ML ESFSHI 30,000 30,000
O8dII=X¥ sUE JeEH 7
3,000,000&+10& 30,000
aSAgaL 322,000 72,000 250,000
207 ARl 272,000 72,000 200,000
03 Al 2t 272,000 72,000 200,000
Otlas 5= 430+ 272,000
402 QI2F X201 & 50,000 50,000
01 QIZEXHE2 AL 2 (REHITH ) 50,000 50,000
OSHSa AIHAY 50,000




2|

=

s8JI=4H
SEXZ
%

2A:
T ZH -

o™

of
i’
oF
uJ

=23

=aak

-

KIO

Hlw

890,000
890,000
890,000
528,600
5,000
5,000
8,600
5,600
3,000
515,000
515,000
330,000

A330,000

330,000

MEE
Ofl &k2h

720,000

720,000

720,000

Ofl &F2H

50,000
100,000
5,000
5,000
5,000
8,600
5,600
5,600
3,000
3,000
515,000
515,000
270,000

450,000

50,000

200,000
40,000

528,600
120,000
125,000

890,000
890,000
890,000
390,000

fir

195,000
195,000

390,000

Al

fir

195,000
195,000

390,000
30,000

Al

15,000
15,000

i

80,000
40,000
40,000
30,000

Al

15,000

i

- HyS

- SRA(E) - HIRAY

S - B

2]

3

3]

500,000&*10
700,000 +8
300,000&*10

A
=

)

o
[uind

2|

AL

=

( KERI TH
X2

A
=

Nl

t

t

=01
201

F

ADEE =90 NI NS HIE
OLXIEZ semi-smartfarm 22 A

OAIE 30 semi-smartfarm 22 A
OAIE20ll A0t

01 AtS2t2ltl
14 J|Et

402

201

F

402

(=]

}\ltH
30,000,000& *1E4X

A
=

&

)

=]
=

2|

E A A

(01 TH

(=]
[=]

Al

A

=
80,000,000& *1EHXI
30,000,000 *1EHX]

I &1D

JF
=

H

A L2HA OlsAE
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M sgII=4dH
M SHEXR
el AiE=EY (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 15,000
OSUSE HSMMET 54
250,000,000 *1&HX| 250,000
= 125,000
Al 125,000
AQIEGSX2MA 2H(EX) 200,000 0 200,000
= 100,000
Al 100,000
402 QI X201 A 200,000 0 200,000
= 100,000
Al 100,000
02 QI EAEEE(OIMTHE) 200,000 0 200,000
OHI0IE I8t MARY BZ(=X)
200,000,000 *1&HX| 200,000
= 100,000
Al 100,000
SHZSYHHSHELMAL 170,000 130,000 40,000
= 85,000
Al 85,000
207 AR LI 40,000 0 40,000
= 20,000
Al 20,000
03 Al& 2| 40,000 0 40,000
Ottt HISAIAE 2=
40,000,000& *1&+X] 40,000
= 20,000
Al 20,000
307 212+01 A 130,000 130,000 0
= 65,000
Al 65,000
02 QIZtBAAIE E R 130,000 130,000 0
O=&= goiE 2l
130,000,000 1+ K| 130,000
= 65,000
Al 65,000
HdE=sY0l =T ZIJAE 224 AL A 5,400 5,400 0
= 2,700
Al 2,700
201 LBt AH| 5,400 5,400 0
= 2,700
Al 2,700
01 AtR2telt] 5,400 5,400 0
OFE=0 HANE 24 ALY 2
600,000& »9H 5,400
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2A: sHIIs4EH
Zu: S|
el doEH=E2g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,700
Al 2,700
SMEASIAZA 8,640 9,360 AT20
= 8,640
202 04| 2,880 3,120 A240
= 2,880
01 2L AL 2,880 3,120 A240
OsttE 2STAEA o]
20,0002 »22] *36= It 1,440
= 1,440
OFLII=E ZTARA Oit
20,0002 x23| *36= 1,440
= 1,440
301 LEtE N = 5,760 6,240 2480
= 5,760
14 JIEt2 =3 5,760 6,240 A480
OsttE ASEA 24 sItAdS
40,0002 #2336 0t 2,880
= 2,880
O3 EIISE A2 SItAtdI=
40,000 *23| *36 It 2,880
= 2,880
ASHSEOISAIE 24,000 0 24,000
< 9,000
Al 15,000
402 QI”F X201 & 24,000 0 24,000
= 9,000
Al 15,000
02 QI A2 AL E R (0IETHR) 24,000 0 24,000
OLEE 2 LR diAlY
30,000,000 1t X|+80f% 24,000
=S 9,000
Al 15,000
Yol E HEUS 20,000 10,000 10,000
< 6,000
Al 14,000
201 er23| 17,000 7,000 10,000
= 5,100
Al 11,900
01 At2teltl 16,000 7,000 9,000
OHHgalE 2M 82 & UsNHE M
600,000 %102 6,000
= 1,800
Al 4,200
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SEAk JlsdH
RZH QIFNOJ
chel: fixesy (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEELTER R
10,000,000 *1CH 10,000
= 3,000
Al 7,000
02 S3=gHl 1,000 0 1,000
OAAHHE 0l 1Y KX
100,000 *100H & 1,000
& 300
Al 700
206 M=l 3,000 3,000 0
= 900
Al 2,100
01 =l 3,000 3,000 0
OAALHS BT HE 7L
300,000& 105 3,000
=S 900
Al 2,100
NS A2 |2 (0) (M EA) 470,000 145,000 325,000
< 235,000
Al 235,000
402 QI”F X201 & 470,000 145,000 325,000
= 235,000
Al 235,000
02 QIR A B (01T 2) 470,000 145,000 325,000
ORUSTE0F AW FNS I3 LB
s 23 AlY 200,000,000 * 1= 200,000
=S 100,000
Al 100,000
OJI=83 g =LEdE Xl
30,000,000 1=K 30,000
== 15,000
Al 15,000
ORcd A7) |= SHHE &l Ag
20,000,000 *1EHX] 20,000
=S 10,000
Al 10,000
ORGINE BX S BUEN J222 A
= 20,000,000 *1&+X] 20,000
= 10,000
Al 10,000
O01& D14 (S & TIGHHEY D= =Hat Al
2 100,000,000 *1E+X] 100,000
=S 50,000
Al 50,000




SEAk JlsdH
ﬂﬂ:gﬂmq
ool RoREey (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OB M2 NS0 £ 2L A
= 60,000,000 *1EHX] 60,000
= 30,000
Al 30,000
OJI=HsUlES AMEa D2J|8Z 2] Al
& 40,000,000& *1EH X 40,000
< 20,000
Al 20,000
sSHsEUSEAXIALE 34,000 32,000 2,000
= 17,000
Al 17,000
201 et23| 3,000 10,000 A7,000
= 1,500
Al 1,500
01 AFS2t2ltl 3,000 10,000 AT7,000
OATIER DENZ M
30,0002 1005 3,000
= 1,500
Al 1,500
206 MH=HI 2,000 2,000 0
= 1,000
Al 1,000
01 MZH| 2,000 2,000 0
OANEE ZHEH ¥ e M7
500,000 42| 2,000
= 1,000
Al 1,000
207 AR 20,000 10,000 10,000
= 10,000
Al 10,000
03 Alg 71| 20,000 10,000 10,000
OLDIEE =0t AlE RAE=
500,000 x200 #2353 20,000
= 10,000
Al 10,000
301 EtE2 NS 9,000 10,000 1,000
= 4,500
Al 4,500
11 AALRHIXIRS 6,000 3,000 3,000
OADIEYE =Jt WS ZA2d
600,000& x102] 6,000
= 3,000
Al 3,000
14 DBt 2 a=S 3,000 7,000 24,000
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AN SI|I=HEH
= JENE

el AiE=EY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OANIEYE =)t SEHEE AE
500,000 62 3,000
= 1,500
Al 1,500
A= 3,452,422 3,043,403 409,019
= 348,074
= 250,000
[ 25,000
Al 2,829,348
NSEAAA 31,662 29,632 2,030
101 @124H| 13,902 11,872 2,030
M ORINZZ2NSE S 13,902 11,872 2,030
Ol STE HIW AlEZ 2¢ I (3HA) 13,902
2= 76,9603 x3& 45 10,390
Cmrasdsd 76,9602 x3H 0 2,078
AHEE= 12,467,520 *11.5% 1,434
201 el 2,000 2,000
01 At2telt] 2,000 2,000
AYNE UF 2 Wl M
500,000 45 2,000
207 ARl 12,300 12,300
03 Al 2HI 12,300 12,300
OH SZE i A7 W27
410,000& *105*3H & 12,300
301 22N 3,460 3,460
11 AALAEIXIES 3,000 3,000
OAMgXE s FA243
20,0002 %150 *13] 3,000
4 IIEt2 83 460 460 0
OMRE DR AANSY
230,000 *23] 460
dolSS I =R 2,366,625 2,366,625 0
307 @I2t01 & 774,000 0 774,000
02 QB HANSEER 774,000 0 774,000
Ol Eolls ML M(S24 ™MelHl)
180,000 +8,600hax50% 774,000
402 QI2F X201 & 1,592,625 2,366,625 AT74,000
03 2IZHRAETAIHHI 1,592,625 1,592,625 0
Odl galls &sYHM A= 1,592,625
SSUM %A & LMl NS
195,000& *15,500na*50% 1,511,250
SSYN 234l X2
105,000 *15,500ha*5% 81,375
netEsIIsA 56,611 50,746 5,865
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S SIS
3 A
ol NEak (ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 40,411 34,546 5,865
M ORINZZE2NSES 40,411 34,546 5,865
OZEIISASY (HBRM OFELZAA)
urals] 40,411
Jl2s 76,9602 x2H*184 28,322
rasded 76,9603 x2& *50 7,6%
o=l 250,000 *1 250
A= 36,018,000& *11.5% 4,143
201 fer23y| 16,200 16,200
01 AtR2t2|HI 1,200 1,200
Og=ssdu-12sia Sellsed 88 N
27 20,0002+ 105 1,200
® 2=2H| 15,000 15,000 0
OFEIIsA B4
750,000,000 *2% 15,000
AsadelsEs 12,500 17,500 A5,000
402 QI2F X201 & 12,500 17,500 25,000
01 QI X2 AL E A (KEHITHE) 12,500 17,500 /5,000
OEXIOIZ SE3HAINIIR, STHEH) =HEH
2 AEAE 12,500
sSHLIIEAE(HEEE) 100,000 130,000 30,000
= 50,000
Al 50,000
402 2I2E X201 & 100,000 130,000 /30,000
= 50,000
Al 50,000
02 QI X2 AL EE (01X THE) 100,000 130,000 30,000
O= 823 gt Xot=2 MOAIAE
100,000,000& *1E+X] 100,000
= 50,000
Al 50,000
SeEAzed 2 (EY) 29,000 29,000 0
= 14,500
Al 14,500
207 AR 29,000 29,000 0
= 14,500
Al 14,500
03 Alg 328 29,000 29,000 0
OEAHEA 2 AIge? Mg 2
8,000 +1,8758 15,000
= 7,500
Al 7,500
O#ZE & 3T 24MS & Mg 28
200,000& »30& 6,000




2A: sHIIs4EH
3 A
el AEe (ol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,000
Al 3,000
Osag OEs SAA U T 7Y
200,000 x40 8,000
= 4,000
Al 4,000
SHEANENY 2Y 500,000 0 500,000
= 250,000
Al 250,000
405 AHAHE S 500,000 0 500,000
= 250,000
Al 250,000
01 ML ESF SHI 500,000 0 500,000
OTBSARA Y| 7
500,000,000 * 14 500,000
= 250,000
Al 250,000
=E2e Bk =3 20,600 20,600 0
= 10,300
Al 10,300
101 @124H| 6,152 5,204 948
= 3,076
Al 3,076
M ORINZZENSE S 6,152 5,204 948
OlERL R4E 53 2Ry 6,152
== 76,9602 x1&+60 4,618
= 2,309
Al 2,309
- RERYsE 76,9603 x 18 12& 924
= 462
Al 462
AHEE 5,542,000« 12 +11% 610
= 305
Al 305
206 M=l 2,448 3,3% N948
= 1,224
Al 1,224
01 M=l 2,448 3.3% 2948
OR=kt 53 Me 2,448
= 1,224
Al 1,224
405 AHatE = 12,000 12,000 0
= 6,000




M sgII=4dH
Zu: ST
=9 2284 (EH9): ®2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 6,000
01 AL =EFSHI 12,000 12,000 0
OLEE HE AMLHE 12,000,000 *1CH 12,000
= 6,000
Al 6,000
sH2Yols A 29 X2 18,000 18,000 0
= 9,000
Al 9,000
201 Let2| 1,800 1,800 0
= 900
Al 900
01 At=R2teld| 1,800 1,800 0
Os&sgolE Y 29
300,000 35 *23] 1,800
= 900
Al 900
206 =4l 12,200 12,200 0
= 6,100
Al 6,100
01 2| 12,200 12,200 0
OHE oIE JI=HE P
620,000& *10& 6,200
= 3,100
Al 3,100
OUZE I8 Mz 7
250,000 =44 1,000
= 500
Al 500
OUZEZE R0tS & ZANEI| 255 2L
250,000 *87H 2,000
= 1,000
Al 1,000
OgalE N IE 2
300,000& 105 3,000
= 1,500
Al 1,500
207 AR HI 4,000 4,000 0
= 2,000
Al 2,000
03 AlE A 2| 4,000 4,000 0
Ogolis e 2 M2 (A)
200,000& *20& 4,000
= 2,000
Al 2,000
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2A: sHIIs4EH
3 A
el AEe (ol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sHEgols 22 =29 N 6,300 6,300 0
= 3,150
Al 3,180
201 er2 3| 2,800 2,050 750
= 1,400
Al 1,400
01 AtR2t2|HI 2,800 2,080 750
Odolis 2R =29 100,000& *285 2,800
= 1,400
Al 1,400
202 04| 2,000 2,000 0
= 1,000
Al 1,000
01 2LHoIH 2,000 2,000 0
Ogolis AL MFIAL & HHEXZA O
af 20,0003 x5 »20 2,000
= 1,000
Al 1,000
206 M=l 1,500 2,250 AT750
= 750
Al 750
01 M= H| 1,500 2,250 AT50
Oz 2=2E 249 Mz 7
100,000& %1574 2 1,500
= 750
Al 750
sIIsdEH sEXZIIBEL(HE) 250,000 0 250,000
[ 250,000
401 AIEHIZL S0 250,000 0 250,000
= 250,000
01 AlZ28| 250,000 0 250,000
OltstdsSa2AuE dx dAHEY
150,000,000 * 14! 150,000
= 150,000
O2tEF oA & EAHHlE
100,000,000& * 14! 100,000
[ 100,000
HEMN Ol 11,124 0 11,124
= 11,124
206 M=l 11,124 0 11,124
= 11,124
01 MHZHI 11,124 0 11,124
=M 0ldEE Mz 7L
9,581& 1,161 11,124
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S SUIISHIE
B IS
o2l A=d (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 2 11,124
NI E Bt R 2| RS (K28 (M EAIY) 50,000 375,000 325,000
= 25,000
Al 25,000
307 21240/ A 50,000 0 50,000
= 25,000
Al 25,000
(2 QIHA ML E 50,000 0 50,000
Off OrEMAr ARSI XIRAYS
100, 0002 *500ha 50,000
= 25,000
Al 25,000
ssin=sy 687,991 1,863,225 A1,175,234
2 69,000
Al 618,991
NDISHENEE 88,726 79,776 8,950
101 ©124H| 42,126 3,176 6,950
WVBIEEEIIEERS 42,126 3,176 6,950
OMSIETH MR Mat JI2HR Q14| 38,444
ol2a 769602122 x 1842 28,322
SERY+Y 76,9602 224 *402 6.157
IR 34,478,080+11.5% 3,965
OMSIETH ML Mot NEDH =)
76,6002 3262 3,682
201 Yereely| 18,100 20,100 £2,000
01 Al 2| 1,100 1,000 100
OMZX HBANSE 2
110,000/* 105 1,100
2 222 17,000 19, 100 £2,100
OMZX MaDIEH Al 42l 2 SXIHI(FO!
e, ZHI LA He2XE )
1,000, 0002 124 12,000
OHZ NEEE, S8 & SN2+
500, 00021 105 5,000
206 THEHI 28,500 24,500 4,000
01 HEHI 28,500 24,500 4,000
AS NEEY 2% IR (45017,)
X, ot HIR) 700,00020% 105 7,000
OMRICH WX Mot AETY
7,0002!%2, 5003 17,500
O3S N2 NEE HMIAE
400,000+ 1074 4,000
ETTEN 17,016 15,260 1,75
101 0124t 12,016 10,260 1,75
VBIEDTEESTETERS 2,016 10,260 1,75




SN SYIISHE
I SN
ool SsE=Esy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O NS 212y 12,016
lEs 76,9603 1 *120& 9,236
raEsdsY 76,9603 x 120 1,540
AWES= 10,774,400 11.5% 1,240
206 Tl 5,000 5,000
IEET 5,000 5,000
OZEHI2R Ma ZEHH Aot
400,000 55 2,000
OXABER dak I
100,000& %105 1,000
OZZMSD M4t OPIEHE 7
500,000 *45 2,000
ES NZ A dab|gh 15 139,792 169, 136 N29,344
101 @124H| 16,392 14,656 736
M ORINZZE2NSE S 16,392 14,656 736
OEENZA 258 2 I
76,9603 x20H * 102 15,392
201 fet= 3| 3,000 3,000
01 AtR2te|HI 600 600
OMZ I &= AR 22|
60,0002 *105 600
2 352484l 2,400 2,400 0
O&DItA 2telh| 700,000& 22 1,400
OaxgEd 2l 500,000 <22 1,000
207 ARl 50,000 50,000
03 Al 2HI 50,000 50,000
OFEESMZ AL ol A B JIEFY
250,000 *4NIE 1,000
OZSMNZAF Mot FE WX 2 (&R 20k
a) 35,0002 %1,400& Xt 49,000
301 EtE NS 20,400 20,480 A80
11 dALEBIXNIZE S 400 480 A80
OFSMNZA Hat=0l 1S
8,000 »25Z #22 400
14 0Bt 2a3 20,000 20,000 0
OFEENZ A ditsHol Hd= A2
20,000,000 * 14! 20,000
402 QI2F X201 & 51,000 51,000
01 QI X2 AL E A (KHMITHE) 51,000 51,000
OZSM At orddak Tt X2 A
500, 0003 1205 +60% 36,000
OZSM AT HEHA SHAL XA
750, 0002 x20S*100f% 15,000
ZEd Dlu=Stes 29 267,061 213,987 53,074
101 e124d| 62,311 47,487 14,824




SN SYIISHE
I SN
ool SsE=Esy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORNZZENSE S 62,311 47,487 14,824
Oz 2tB0ldSHSd JI2HHZ2 A 2= 40,160
E2s 76,9602 x2EH 184 28,322
raEsdsd 76,9603 x2& *50 7,6%
AHEE= 36,017,280 *11.5% 4,142
OzlstB0|dStd ugd s J12tH2=
A 2= 22,151
lEs 76,9602 x 12 *184 14,161
raEsdsd 76,9603 x 1 x50 3,848
AHEE= 36,017,280 *11.5% 4,142
201 er23 | 22,000 22,000
01 At2t2ltl 7,000 7,000
OnIM4SHYA N2EETY
200,0002 %102 2,000
Olld=te S22 & WM
400,000 %105 4,000
On| =t HHer 2492
50,0002 x65+43] 1,000
02 S5=2g4l 15,000 15,000 0
Ol =tiefa AIEEH|l [l
600,000 *202] 12,000
ODIMSHHtA SEIF (242, AlSH, 3HIH) 3,000
206 M=l 166,250 144,500 21,750
01 M= HI 166,250 144,500 21,750
ODIMSY 75 thX P
500, 0002 x2502] 125,000
ODIMSHILA A8 Tz L A%
00,0002 %105 9,000
Ol =gt ZEX7Y(52IEE)
350%+30,000& 10,500
OBl= & 2ATFEE Mz 7Y
165,000& *100kg 16,500
OBl & | EHl 2¢
3,500& *1,500% 5,250
401 AIEHIX R0 8,000 8,000
01 AlZ2H| 8,000 8,000
Ocld g+ =884 4otg €1
8,000,000 * 14 8,000
405 AHAHE S 8,500 8,500
01 AL =S F = 8,500 8,500
Ol SHIAME J|2AT P
8,500,000 * 14 8,500
SsH=2 Il B2 6,100 3,000 3,100
206 M=l 2,000 0 2,000
01 M=4l 2,000 0 2,000




S SIS
M XA
o9l Sanssy (Cr9: &8
SA - B GR(31) - HIRAY - BES il &k e HlmS2
SEEECNENE]
20,000& *53|*203] 2,000
301 LEtBEF 4,100 3,000 1,100
11 HARHIKIE S 2,600 3,000 A400
OS3%=2 alz 0T 34 B4
8,000& x200H 1,600
OS3&= M| U= I
1,000,000&*12] 1,000
14 JIEt2 43 1,500 0 1,500
SS&E=E Az 1\ ZAL =2
300,000& %53 1,500
NG Sstsdl =828 X 39,2% 36,667 2,629
= 4,000
Al 35,2%
101 @124l 38,643 36,667 1,976
= 4,000
Al 34,643
03 SR (RIAHY) 22 E> 38,643 36,667 1,976
OXN<EEs s)|l= EE35t XA 38,643
JlE3 2,174,360 121 & +1H 26,093
= 4,000
Al 22,093
oletEH| 40,0002 1201 = 480
= 50,0002 %121 & 600
IESE 20,0002 = 1201 & 240
- OIS AH| 98,800 152 1,482
- HEFIHI 1,304,610& *23| 2,610
=gl 140,000& = 12042 1,680
A2+l =E 18,525&x15A| 2t 124 & 3,33
A2 761,020 3 +23| 1,523
P = P Y= 50,0002 1242 600
303 L&z 653 653
01 Z&3 653 653
Odutai=a 2,174,360 *30%* 13| 653
s ISAME(SSES) 120,000 260,000 A 140,000
= 60,000
Al 60,000
402 QI2ERH=0I1 N 120,000 260,000 A140,000
= 60,000
Al 60,000
02 QIZEXHE AL B X (01 &THEA) 120,000 260,000 A 140,000
O=3g EE IUEEE I datd &
&b AIE AN 5,000,000 *40H 2 20,000
= 10,000




2A: sHIIs4EH
I SN
ool SsE=Esy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,000
OADIE |AtetE 8 H4 E AEdA N
2= Al 50,000,000 *2IH 2 100,000
= 50,000
Al 50,000
ZeEAzeld 2F(54) 10,000 10,000 0
= 5,000
Al 5,000
206 M=l 10,000 10,000 0
= 5,000
Al 5,000
01 M=4l 10,000 10,000 0
OF¢E Old= 4 Mg 2
10,000,000 * 14! 10,000
= 5,000
Al 5,000
=082 2,004,363 1,046,313 958,050
Al 734,363
CH 1,270,000
012 ISSR Mt 391,831 377,313 14,518
101 @124H| 144,831 121,313 23,518
04 JIZtNZ2 2N S+ 144,831 121,313 23,518
Ol Fe| AsZRHL & APE L JI2HA|
222 144,831
JlEa 84,4002 x6H 186 94,191
CrEsdsd 84,4002 x62 482! 24,308
e e 84,4002 *1.5«6H 156 11,3%
-4l 2E8= 129,893,000 *11.5% 14,938
201 et 3| 77,000 77,000
01 AtR2tc|Hl 3,000 3,000
OflFel &3 ARES 7
300,000& *102] 3,000
02 S5=2g4l 74,000 74,000 0
Oobl#el das 248 &lieks
50,000, 000& 1= 50,000
OblFel H7s A=Al
800, 000& »302 24,000
206 M=l 100,000 70,000 30,000
01 MHZHI 100,000 70,000 30,000
OblFe| ASESR YA Hae
500, 0002 205+ 100 = 100,000
207 ARl 70,000 55,000 15,000
03 Al -2HI 70,000 55,000 15,000
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2A: sHIIs4EH
T ST
Rl =429 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFet 0172 g0 thgkda Alg A2
2 7,000,0002*103] 70,000
OlFcl A 29 342,532 279,000 63,532
101 @1A4H| 72,332 0 72,332
04 JIZtNZ22 XS 2+ 72,332 0 72,332
oozl ABER APEE J|2
222 72,332
JlEa 84,3003 x3H 186 47,040
- erEsdrd 84,3003 x32 48! 12,140
CREY2RE 84,3002 *1.5«3H 156 5,691
-4l 282 64,871,000 11.5% 7,461
201 2= 63,000 53,000 10,000
01 At22t2l] 3,000 3,000 0
OnlFe| LA g2 7
300,000& *102] 3,000
2 35234l 60,000 50,000 10,000
ODlF el A 2=
60,000, 00021 60,000
206 T2l 100,000 70,000 30,000
01 T2 100,000 70,000 30,000
OnlF2l LAIEH 4ar TR
0,000&*205* 10 2 100,000
401 Al HIZL 201 107,200 150,000 242,800
01 Al&H| 107,200 150,000 242,800
@lIE-CIRINI=5 =
160,000 *420m 67,200
OQAST BRZE U ST LZELDA
250,000 *160m 40,000
0IF2ISFLAFEEL(X J13) 1,270,000 0 1,270,000
1,270,000
401 A& HIX R0 1,270,000 0 1,270,000
1,270,000
01 Al&HI 1,270,000 0 1,270,000
SLIE-CII TN EE
1,270,000,000& *1S 1,270,000
1,270,000
AE2EZHI 210,670 210,890 N220
J23tl(sgIIs4H) 210,670 210,890 A220
Jl2dtl(sgII=4H) 210,670 210,890 A220
201 er2 3| 89,400 89,400 0
01 AtR2t2|HI 13,800 13,800 0
ogxzfsg 60,0002 x2EH*115& 13,800
02 s3=gHl 75,600 75,600 0




2A:

s8JI=4H

ZE: #SHAY|
o J2dtl(sglls4dH) (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O=gll= 2223 ¥ MAl
6,300,0002 1200 & 75,600
202 04dl 105,250 105,250
01 =LHOdH] 56,050 56,050
OsEXE g2+ 56,050
02 EHAL| 49,200 49,200 0
SOAGAE N 37,800
Ot CHZ AHLHHA
300,000 *x3H * 1204 & 10,800
oIEH 250,000 x 1B+ 12042 3,000
225 200,000 x 18 %1201 2 2,400
-JIEtESHS 150,000 12 =124 & 21,600
OsIIAHAHAIE A SR 11,400
QIEEA 250,000 x2H 1201 & 6,000
JIEt S8Hs 150,000 «3F * 1200 & 5,400
203 AR F&lh| 16,020 16,240 AN220
01 J|22H AR FAY| 3,300 3,300 0
OsI|=sdHAE 3,300
02 HRIMARFARIH| 2,880 2,680 200
OFJIHRFEIH| 2,880
M EAN2IHRFA| 9,840 10,260 A420
ORN2IYRFAI 9,840
SELNED 6,240
A XAt 3,600
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